

Po# 135939 BH 15t Line rec 423190

August 25, 2017

Project No:

10.001159.0000

Invoice No:

0275037

Jillian Peterson Fort Bend County 301 Jackson Street Richmond, TX 77469

Project

10.001159.0000

Westpark FM 1093 Phase 2 PO#135939

TOTAL CONTRACT AMOUNT: \$711,535.00 AMOUNT INVOICED TO DATE: \$563,433.87 REMAINING FUNDS AVAILABLE: \$148,101.13

Professional Services from July 29, 2017 to August 25, 2017

Professional Personnel

	Quantity	Rate	Amount	
Documents Manager				
Rickelman, Mintra	15.0	80.00	1,200.00	
Documents Specialist				
Byington, Michele	15.0	65.00	975.00	
Cervantes, Aleyna	6.0	65.00	390.00	
George, Kathy	6.0	65.00	390.00	
Kimbrell, Jennifer	14.0	65.00	910.00	
Project Manager				
Kaplan, Arlene	12.0	85.00	1,020.00	
Miller, Rhia	12.0	85.00	1,020.00	
Right of Way Agent (1-5 Years)				
Suzyette Romoser	20.0	65.00	1,300.00	
Sr. Right of Way Agent				
Paul Quinn	16.0	75.00	1,200.00	
Total Labor				8,405.00
Reimbursable Expenses				
/ Mileage			54.57	
' Copies			1.80	
Postage			79.13	
Total Reimbursables			135.50	135.50

Project 10.001159.0000 FBC-Westpark FM 1093 Phase 2 PO#135939 Invoice 0275037

Total this Invoice \$8,540.50

PERCHERON INVOICE DETAIL

Billing Period from July 29, 2017 to August 25, 2017

Date	Qty	Rate	Total Labor	Miles	Amt (Miles)	Lodgin			Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Miller, Rhia					Rate)											
8/10/2017	2.000	85.00	170.00													170.0
Work Detail				wed negot	tiator logs	and files to	be turned o	over to FBC	for TxDOT a	udit.						170.0
8/17/2017		85.00	170.00													170.0
Work Detail	Rhia Miller:	Reviewe	ed files for c	losure.												
8/18/2017	1.000	85.00	85.00													85.0
Work Detail	Rhia Miller:	P406 - A	ssisted with	n preparatio	on of paym	nent packag	e to send t	o FBC.								
8/22/2017	3.000	85.00	255.00													255.00
Work Detail	Rhia Miller:	reviewed	d files with	Arlene, P40	06: Searcl	hed for acc	eptance of	offer and ex	hibits to deli	ver to FBC L	_egal.					
8/23/2017	1.000	85.00	85.00													85.00
Work Detail	Adminstrati	ve tasks														
8/25/2017	3.000	85.00	255.00													255.00
Work Detail	Rhia Miller:	P100, P1	101 , P104,	P105, P10	8, P109 &	P206 - Re	viewed neg	otiation log	s to turn ove	r to FBC for	TxDOT au	ıdit. Prepar	ed comment	s and sent to	agent and Arle	ene.
Total Miller,	12.000		1,020.00													1,020.00
Rhia: Cervantes, Ale	vna															
8/24/2017	4.000		260.00													260.00
Work Detail	Building ED				rney's Offi	ice 										
8/25/2017	2.000		130.00			594 Gr. 8 18 18 18 18 18 18 18 18 18 18 18 18 18										130.00
Work Detail	Helped with	partial re		P406, coor	dinating le	ender issues	for closing	l								
Total Cervantes,	6.000		390.00													390.00
Aleyna: Kimbrell, Jenni	for															
8/7/2017	3.000	65.00	195.00													195.00
Work Detail	8/7 Weekly															
7/31/2017	2.000		130.00													130.00
Work Detail	7/31 Weekly															
8/14/2017	2.000		130.00													130.00
Work Detail	8/14 Weekly															
8/21/2017	2.000		130.00													130.00
Work Detail 8/23/2017	8/21 Weekly															
Work Detail			65.00	-11												65.00
8/24/2017	8/23 P404 3 4.000	65.00	260.00													
Work Detail				nformation	for algoing	a on D406	oontooting l	anders to fi	nalize docum	anto for ele						260.00
Total Kimbrell,	14.000	research	910.00	mormation	TOT CIOSING	g 011 P406,	contacting i	enders to iii	Tallze docum	ents for clo	sing					040.00
Jennifer:	14.000		310.00							300						910.00
Byington, Mich	ele															
8/8/2017	8.000	65.00	520.00													520.00
Work Detail	Review title	and divo	rce decree	for Westpa	ırk II's P15	3; send my	conclusion	and analys	is to Mintra	e P153; Rev	view title fo	or P416, gav	e conclusion	and analysis	s to Mintra re	
8/9/2017	3.500	65.00	227.50	ib; Review	ed title for	vvestpark	rs 423, rev	iew divorce	degree and	will; commu	nicated wit	h Debra Du	ncan re 423			227.50
Work Detail				n and anal	vsis of We	stpark II's F	9423: Draft	FD summar	y for P416; I	Oraft intial of	fficer to Ge	orge Hacke	t for his inter	est in P423		227.00
8/17/2017	1.000	65.00	65.00													65.00
Work Detail	Meet with M		noving forw	ard on P42	23 - has a	50% outsta	ndina intere	est in the pro	perty							00.00
8/21/2017	1.500	. .	97.50													97.50
Work Detail	Prepare P4			ptions with	Mintra re	whether pa	rcel should	go to ED or	continue wit	h curative w	vork					07.00
8/23/2017	1.000		65.00			'-										65.00
Work Detail	Meeting at F		County offic	e re status	update											00.00
Гotal	15.000		975.00						-							975.00
Byington, Michele:																
20170825 -0811	KATY CC P	FS														
																1.80
8/25/2017												10	0		1 00	
8/25/2017 Total 20170825					-							1.8			1.80	1.80

Project	10.0	0110	9.0000	Г	DC-VV6	estpark			150 Z P		939		rvoice	02	275037	
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Rickelman, Mil	ntra															
7/31/2017	2.000	80.00	160.00				••								• • • • • • • • • • • • • • • • • • • •	160.0
Work Detail			Rickelman - F	Fort Bend (County - We	estpark Phas	se 2 - proje	ct status m	eeting, title o	oordination	with Stewa	art 				
8/3/2017 Work Detail	3.000	80.00	240.00	P ^	number Mar	stoods Dhass	. 0 . 1111		with Otalian		0	4 4.4				240.0
8/16/2017	1.000	80.00	80.00									Inty Attorne	ys Office re	garding upc	oming ED wor	80.0
Work Detail 8/22/2017	4.000	80.00	320.00													320,0
Work Detail	8.22.2017 Stewart Tit		Rickelman - F	Fort Bend (County - We	estpark Phas	se 2 - organ	nizing closir	ng logistics f	or P406 per	Joe Cox, o	rafted e-ma	ils to Charle	es McFarland	i, county attor	neys, and
8/23/2017	5.000	80.00	400.00													400.00
Work Detail		- Mintra F		ort Bend (County - We	estpark Phas	se 2 - atten	ding status	meetings at	Fort Bend	County, par	tial release:	s drafted for	lenders on F	2406	
Total Rickelman, Mintra:	15.000		1,200.00													1,200.00
George, Kathy													- <i></i>			
7/31/2017 Work Detail	2.000 7/31/2017	65.00 - Drove to	130.00 Ft. Bend Co	34.00 ounty to pi			s 418 and 4	05.							18.19	148.19
8/3/2017	1.000	65.00	65.00	34.00	18.19	}									18.19	83,19
Work Detail 8/7/2017	8/03/2017 1.000	- Drove to 65,00	65.00	o to have t	he Special	Warranty De	ed for parc	el 404 reco	orded.							65.00
Work Detail 8/14/2017	8/07/2017 1.000	Attend v	veekly team 65.00	meeting.											-	65.0
Work Detail 8/16/2017	8/14/2017 1.000	Receive	d the closing	documen	for parcels	506 and 50	17; scanned	; saved to	T: drive and	uploaded ir	nto AMPS.	Gave origin	als to agen	t. Attended t	he weekly tea	m meeting. 65.00
Work Detail	8/16/2017	- Request	t from Arlene	to forward	i the warrar	ity deed pan	cel 414 to [Debra Duno	an with Stev	wart Title.						
Total George, Kathy:	6.000		390.00	68.00	36.38	3									36.38	426.38
Kaplan, Arlene)														· · ·	
7/31/2017	1.000	85.00	85.00													85.00
Work Detail 8/8/2017	Went over	parcel sta 85.00	atus to deten	mine need	s for closing											
Work Detail			king on closi	nas with or	operty own	ers and title.										170.00
8/11/2017	3.000	85.00	255.00													255.00
Work Detail	Arlene Kap	dan: Callir	ng property o	owners and	d title to get	closings do	ne.									
8/16/2017 Work Detail	2.000 Arlene Kar	85.00 lan: Pullir	170.00	s together	to get parce	els closed wi	th Suzv.									170.00
8/21/2017 Work Detail	2.000	85.00	170.00 ed to agents													170.00
8/23/2017	2.000	85.00	170.00	34.00	18.19	,									18.19	188.19
Work Detail	-	lan; Atter	nded team m				Phase 2 a	nd look at r	nodifications	down the r	oad for futu	ire projects				
Total Kaplan, Arlene:	12.000		1,020.00	34.00	18,19	·									18.19	1,038.19
Romoser, Suzy	yette															
7/31/2017	4.000	65.00	260.00													260.00
Work Detail 8/10/2017		65.00	ntacted prop	erty owner	s for closing	and signate	ure on pape	erwork for F	9506, P507;	P501 and c	ther admin	istrative dut	ies. 			130.00
Work Detail 8/14/2017	Suzy Rome 4.000	oser - Ass 65.00	sisted proper	ty owner w	/Form 1295	5, closing pa	perwork ar	d other adı	ninistrative o	duties,					• • • • • • • • • • • • • • • • • • • •	260.00
Work Detail	Suzy Rome		ove to/from P	405 to sign	n closing pa	pers and St	ewart Title	Co., for P5	06, P507; ot	her adminis	trative dutio	es. 				260.00
Work Detail	Suzy Rome	oser - Upo	dated files; lo	ogs; sched	uled closing	for P 41 8, P	419, P420	preparing	closed files	for review a	nd submitta	al to FBC; o	ther adminis	strative duties	s. 	
8/22/2017 Work Detail		65.00	260.00 sisted proper	ty nweere	with closing	i nanamork.	nettina se	nerwork to	the title com	nanv: and a	ther admis	ietrotivo dut	lae.			260.00
8/24/2017	2.000	65.00	130.00							pany, anu l	aumin					130.00
Work Detail	Suzy Rome	oser - Upo	dated files, lo	ogs and file	closure for	P506 & P50	07; other a	iministrativ	e duties.							
Total	20.000		1,300.00													1,300.00

Project	10.	00115	9.0000	F	BC-We	estpark	FM 109	93 Pha	se 2 P	O#1359	939	In	voice	02	75037	
						Billing Per	iod from J	uly 29, 201	7 to Augus	t 25, 2017			***************************************			
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Quinn, Paul																
8/3/2017	8.000	75.00	600.00													600.00
Work Detail	FBC - We	stpark Ext	ention Phase	2 - Work	ing on comp	letion of fina	al files, upda	ating docur	nents in AM	PS and Age	ent Notes.					
8/8/2017	4.000	75.00	300.00													300.00
Work Detail	8/8/2017 -	FBC Wes	stpark Phase	2 - P409,	P400, P404	, P414, P41	5 - Updated	d documen	ts for file clo	sure.						
8/14/2017	4.000	75.00	300.00													300.00
Work Detail	8/14/2017 of his sign	- FBC - F from the I	M 1093 West ROW.	park Ext	- P414 - Fo	low up with	landowner	to schedule	e closing. P	415 - Spoke	with land	owner regard	ling the con	struction sch	nedule and his	removing
Total Quinn, Paul:	16.000		1,200.00				-22-90-00-00									1,200.00
Expenses, Ge	neral				,											
8/17/2017													19.68		19.68	19.68
8/21/2017													6.56		6.56	6.56
Total Expenses, General:										11			26.24	-	26.24	26.24
FedEx																The state of the s
													52.89		52.89	52.89
8/18/2017		V=10														
8/18/2017 AP Detail	FedEx @	Katy														
	FedEx @	Katy									(1)	TANCO TO STATE OF THE STATE OF	52.89		52.89	52.89

Katy Office Copy Count Billing Period 8/12-8/25-2017

 Shared Account Parent Name
 Shared Account Parent Code
 Job Type
 Pages
 Pages
 Pages
 Cost

 FM 1093 West Park Ph2
 10.001159,0000
 PRINT
 2
 10
 12
 \$
 1.80

STAMPS.C	OM	Westpa	ark Ph	2 / Ft. Bend	County
Date	Cost	Credit		Balance	Туре
8/18/2017	\$6.56		\$0.00	\$250.15	Print
8/18/2017	\$6.56		\$0.00	\$256.71	Print
8/18/2017	\$6.56		\$0.00	\$263.27	Print
TOTAL	\$19.68				

Description of	Charge L	ومحدال	ork_	Ph2
Description	Charge_b	10	1	
Client	- Jane	d Co	en 5	
Project	posta	چد		
•		rask		
Phase		· · · · · · · · · · · · · · · · · · ·	APPROV	/AI •
Amount to Pa	У	/	#FFWO&	//_ •
Amount to Bil	#/	7-68		

45994

STAMPS.COM

West Park Ph 2 / Ft. Bend County

STAMPS.COM

Print Date Cost

Recipient

Status

Carrier Class Service

Cost Code

8/18/2017

\$6.56 1 NetStamps at \$6.56 each Printed

nted USPS

Certified RRR

Ft. Bend

TOTAL

\$6.56

Amount to Bill 46.56

FEDEX

	Bend C	Westpark Ph 2 /Ft.	Bend C	Westpark Ph 2 /Ft.	Bend C	Westpark Ph 2 /Ft.	Reference	Original Customer	
	20170807 Debbie Duncan		20170725 Debbie Duncan		20170801 Debbie Duncan		Date Recipient	Delivery	POD
	Freeway	14100 Southwest	Freeway	14100 Southwest	Freeway	14100 Southwest	Line 1	Recipient Address	
	SUGAR LAND		SUGAR LAND		SUGAR LAND		Recipient City	S	
	Rickelman	Mintra	Rickelman	Mintra	Kimbrell	Jennifer	Shipper Nam		
	KATY		KATY		KATY		Shipper Name Shipper City Amount		
\$52.89	12.36		20.24		20.29		Amount	Net Charge	

Prospect: Westpark Ph 2
Client: Ft. Bend County Prospect:

Description: FedEx

Amount: \$

52.89